Orden de Operaciones (H)

Realice las operaciones en el orden correcto.

- (91,03 +24,27) x (—64,1) + (—97,05) + 17,4

[

N

35,14 (—34,27) + 41,01 — (—68,57 — 68,39)

W

65,5 x (39,3 —42,34 — (—64,98)) — 31,38

4. (—=26,9+14,1) x (—98,25) — (84,14 — 19, 58)

5. =39,01 —18,13461,78 +34,91 439,41
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Orden de Operaciones (H) Answers

Realice las operaciones en el orden correcto.

- (91,03424,27) x (—64, 1)+ (—97,05) + 17,4
— 7.470,38

- 35,1+ (—34,27) +41,01 — (—68,57 — 68,39)

= .178,8

65,5 x (39,3 —42,34 — (—64,98)) — 31,38

= 4.025,69

- (—26,9414,1) x (—98,25) — (84,14 — 19, 58)
~ 1.

193,04

. —39,01 — 18,13 +61,78 434,91 439,41

=78,96
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